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 3x1+x2+s2=3.5 
 3x1+x2+s1=3.5 
 3x1+x2+s1<=3.5 
 3x1+x2+s1+s2=3.5 

 X1+x2+s2<=1 
 X1+x2_s3=1 
 X1+x2+s3=1 
 X1+x2+s2=1 

 Max z-x1-x2=0 
 x2=0-x1-Max z 
 Max z +x1+x2=0 
 Min Z-x1-x2=0 
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هذا هوهرمز مغلف  DEAالرمز 

 البيانات ,

 ملطلوب حساب الكفاءه النسبيه,,لا

 قسمه النسبيه: هينتعرف الكفاءه 

 خرجات على المدخلاتملا
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- Decision  Analysis 

- Pivot  Equation 

- Graphical  Method

- Simplex  Method 

  

  

  

  

  

  

  

  

  

  

  

  

 AAA 
 Lingo 
 DEA 
 Exccl 

 MS-Excel 
 Lingo 
 DEA 
 Blackboard 
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x1-x2>=8

x1+x2<=16 

x1+x2<16 

x1 +x2 >100
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Simulation 
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Max Z= 1520x1+1030x 

Max Z= 1250x1+5000x

 Max z=2x1+3x2 

Min Z= 56x1+ 48x 

 X X  

 

12 7 1250 

 

4 5 1110 
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 7404x1+5x2<= 
 X1+X2<-1110 
 12X1+4X2<=65 

 1250X1+1110X2<=48

 X1+x2<= 0 

 X2<=x1 

 X2>=x1 

 X2<=x1+35 
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